# A NOTE ON SOME IDENTITIES OF BERNOULLI NUMBERS ARISING FROM RIEMANN INTEGRALS 

TAEKYUN KIM, DAE SAN KIM, HAN-YOUNG KIM, AND HYUNSEOK LEE


#### Abstract

In this paper, we represent the generating function of Bernoulli numbers and its reciprocal as Riemann integrals on the unit interval. From these integral representations and in an elementary way, we derive several identities involving Bernoulli numbers, Bell numbers and Stirling numbers of the first and second kinds.


## 1. Introduction

The aim of this paper is to consider two basic Riemann integrals on unit intervals from which we derive several identities involving Bernoulli numbers, Bell numbers and Stirling numbers of the first and second kinds. In more detail, our results are as follows.

Firstly, we observe that the generating function of the Bernoulli numbers is given by a Riemann integral on the unit interval. From this observation, we get explicit expressions for Bernoulli and higher-order Bernoulli numbers, and an identity involving Bernoulli numbers and Stirling numbers of the first kind.

Secondly, we note that the reciprocal of the generating function of the Bernoulli numbers is also given by a Riemann integral on the unit interval. Then, from this note, we obtain an expression for Stirling numbers of the second kind, representations of the integral of the Bell polynomial on the unit interval in terms of Stirling numbers of the second kind and also of Bell numbers and Bernoulli numbers, and the value of higher-order Bernoulli polynomials at 1 in terms of Stirling numbers of the first and second kinds.

It is well known that the higher-order Bernoulli numbers are defined by

$$
\begin{equation*}
\left(\frac{t}{e^{t}-1}\right)^{r}=\sum_{n=0}^{\infty} B_{n}^{(r)} \frac{t^{n}}{n!}, \quad(r \in \mathbb{N}), \quad(\text { see }[12]) \tag{1}
\end{equation*}
$$

When $r=1, B_{n}=B_{n}^{(1)},(n \geq 0)$, are called the Bernoulli numbers.
The Stirling numbers of the first kind are defined by

$$
\begin{equation*}
(x)_{n}=\sum_{l=0}^{n} S_{1}(n, l) x^{l}, \quad(n \geq 0), \quad(\operatorname{see}[1-13]) \tag{2}
\end{equation*}
$$

where $(x)_{0}=1,(x)_{n}=x(x-1) \cdots(x-n+1),(n \geq 1)$.
As an inversion formula of (2), the Stirling numbers of the second kind are defined by

$$
\begin{equation*}
x^{n}=\sum_{l=0}^{n} S_{2}(n, l)(x)_{l}, \quad(n \geq 0), \quad(\text { see }[1-13]) \tag{3}
\end{equation*}
$$

[^0]The Bell polynomials are given by

$$
\begin{equation*}
e^{x\left(e^{t}-1\right)}=\sum_{n=0}^{\infty} \operatorname{Bel}_{n}(x) \frac{t^{n}}{n!}, \quad(\text { see }[3]) \tag{4}
\end{equation*}
$$

By (3) and (4), we get

$$
\begin{equation*}
\operatorname{Bel}_{n}(x)=\sum_{l=0}^{n} S_{2}(n, l) x^{l}, \quad(n \geq 0) \tag{5}
\end{equation*}
$$

## 2. Integral representations for the generating function of Bernoulli numbers

First, we note that

$$
\begin{equation*}
\int_{0}^{1} \frac{1}{1+x\left(e^{t}-1\right)} d x=\frac{t}{e^{t}-1}=\sum_{n=0}^{\infty} B_{n} \frac{t^{n}}{n!} \tag{6}
\end{equation*}
$$

On the other hand,

$$
\begin{align*}
\int_{0}^{1} \frac{1}{1+x\left(e^{t}-1\right)} d x & =\sum_{l=0}^{\infty}(-1)^{l}\left(e^{t}-1\right)^{l} \int_{0}^{1} x^{l} d x=\sum_{l=0}^{\infty} \frac{(-1)^{l} l!}{l+1} \frac{1}{l!}\left(e^{t}-1\right)^{l}  \tag{7}\\
& =\sum_{l=0}^{\infty} \frac{(-1)^{l}}{l+1} l!\sum_{n=l}^{\infty} S_{2}(n, l) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} \frac{(-1)^{l}}{l+1} l!S_{2}(n, l)\right) \frac{t^{n}}{n!} .
\end{align*}
$$

From (6) and (7), we have

$$
B_{n}=\sum_{l=0}^{n}(-1)^{l} \frac{l!}{l+1} S_{2}(l, n), \quad(n \geq 0)
$$

Now, we consider the multivariate integral related the generating function of higher-order Bernoulli numbers which are given by

$$
\begin{equation*}
\int_{0}^{1} \cdots \int_{0}^{1} \prod_{l=1}^{r}\left(\frac{1}{1+x_{l}\left(e^{t}-1\right)}\right) d x_{1} \cdots d x_{r}=\left(\frac{t}{e^{t}-1}\right)^{r}=\sum_{n=0}^{\infty} B_{n}^{(r)} \frac{t^{n}}{n!} . \tag{8}
\end{equation*}
$$

From (7), we note that

$$
\begin{equation*}
\int_{0}^{1} \cdots \int_{0}^{1} \prod_{l=1}^{r}\left(\frac{1}{1+x_{l}\left(e^{t}-1\right)}\right) d x_{1} \cdots d x_{r}=\sum_{n=0}^{\infty} A_{n, r} \frac{t^{n}}{n!} \tag{9}
\end{equation*}
$$

where

$$
\begin{equation*}
A_{n, r}=\sum_{\substack{n_{1}+\cdots+n_{r}=n \\ n_{i} \geq 0}}\binom{n}{n_{1}, \ldots, n_{r}} \sum_{k_{1}=0}^{n_{1}} \cdots \sum_{k_{r}=0}^{n_{r}}(-1)^{k_{1}+\cdots+k_{r}} \prod_{l=1}^{r}\left(\frac{k_{l}!S_{2}\left(n_{l}, k_{l}\right)}{k_{l}+1}\right) \tag{10}
\end{equation*}
$$

Thus, by (8)-(10), we have

$$
B_{n}^{(r)}=\sum_{\substack{n_{1}+\cdots+n_{r}=n \\ n_{i} \geq 0}}\binom{n}{n_{1}, \ldots, n_{r}} \sum_{k_{1}=0}^{n_{1}} \cdots \sum_{k_{r}=0}^{n_{r}}(-1)^{k_{1}+\cdots+k_{r}} \prod_{l=1}^{r}\left(\frac{k_{l}!S_{2}\left(n_{l}, k_{l}\right)}{k_{l}+1}\right)
$$

It is well known that the Fubini polynomials are given by

$$
\begin{equation*}
\frac{1}{1-x\left(e^{t}-1\right)}=\sum_{n=0}^{\infty} F_{n}(x) \frac{t^{n}}{n!}, \quad(\text { see }[2,4,7,9,10]) . \tag{11}
\end{equation*}
$$

By (6) and (11), we get

$$
\begin{equation*}
\int_{0}^{1} F_{n}(-x) d x=B_{n}, \quad(n \geq 0) . \tag{12}
\end{equation*}
$$

We observe that

$$
\begin{align*}
\int_{0}^{1} \frac{1}{1+x\left(e^{t}-1\right)} d x & =\sum_{m=0}^{\infty} \frac{(-1)^{m}}{m!} \int_{0}^{1} \log ^{m}\left(1+x\left(e^{t}-1\right)\right) d x  \tag{13}\\
& =\sum_{m=0}^{\infty}(-1)^{m} \sum_{k=m}^{\infty} S_{1}(k, m) \frac{1}{k!}\left(e^{t}-1\right)^{k} \int_{0}^{1} x^{k} d x \\
& =\sum_{k=0}^{\infty} \sum_{m=0}^{k}(-1)^{m} \frac{S_{1}(k, m)}{k+1} \sum_{n=k}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \sum_{m=0}^{k}(-1)^{m} \frac{S_{1}(k, m)}{k+1} S_{2}(n, k)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Thus, by (6) and (13), we get

$$
\begin{equation*}
B_{n}=\sum_{k=0}^{n} \sum_{m=0}^{k}(-1)^{m} \frac{S_{2}(n, k) S_{1}(k, m)}{k+1}, \quad(n \geq 0) \tag{14}
\end{equation*}
$$

Replacing $t$ by $\log (1+t)$ in (6), we have

$$
\begin{align*}
\int_{0}^{1} \frac{1}{1+t x} d x & =\sum_{l=0}^{\infty} B_{l} \frac{1}{l!}(\log (1+t))^{l}=\sum_{l=0}^{\infty} B_{l} \sum_{n=l}^{\infty} S_{1}(n, l) \frac{t^{n}}{n!}  \tag{15}\\
& =\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} B_{l} S_{1}(n, l)\right) \frac{t^{n}}{n!}
\end{align*}
$$

On the other hand,

$$
\begin{align*}
\frac{1}{1+x t} & =e^{-\log (1+x t)}=\sum_{l=0}^{\infty}(-1)^{l} \frac{1}{l!}(\log (1+x t))^{l}  \tag{16}\\
& =\sum_{l=0}^{\infty}(-1)^{l} \sum_{n=l}^{\infty} S_{1}(n, l) \frac{x^{n} t^{n}}{n!}=\sum_{n=0}^{\infty} x^{n} \sum_{l=0}^{n}(-1)^{l} S_{1}(n, l) \frac{t^{n}}{n!}
\end{align*}
$$

Thus, we note that

$$
\begin{equation*}
\int_{0}^{1} \frac{1}{1+x t} d x=\sum_{n=0}^{\infty}\left(\frac{1}{n+1} \sum_{l=0}^{n}(-1)^{l} S_{1}(n, l)\right) \frac{t^{n}}{n!} \tag{17}
\end{equation*}
$$

From (15) and (17), we have

$$
\begin{equation*}
\frac{1}{n+1} \sum_{l=0}^{n}(-1)^{l} S_{1}(n, l)=\sum_{l=0}^{n} S_{1}(n, l) B_{l}, \quad(n \geq 0) \tag{18}
\end{equation*}
$$

We note that

$$
\begin{align*}
\int_{0}^{1} \frac{1}{1+x t} d x & =\frac{1}{t} \log (1+t)=\frac{1}{t} \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n} t^{n}  \tag{19}\\
& =\sum_{n=0}^{\infty} \frac{(-1)^{n}}{n+1} n!\frac{t^{n}}{n!}
\end{align*}
$$

Thus, by (17) and (19), we get

$$
\begin{equation*}
1=\frac{1}{n!} \sum_{l=0}^{n}(-1)^{n-l} S_{1}(n, l)=\frac{1}{n!} \sum_{l=0}^{n}\left|S_{1}(n, l)\right|, \quad(n \geq 0) \tag{20}
\end{equation*}
$$

where $\left|S_{1}(n, l)\right|$ are the unsigned Stirling numbers of the first kind.

It is easy to show that

$$
\begin{equation*}
\int_{0}^{1} e^{x t} d x=\frac{1}{t}\left(e^{t}-1\right) \tag{21}
\end{equation*}
$$

From (21), we have

$$
\begin{align*}
\int_{0}^{1} \cdots \int_{0}^{1} e^{\left(x_{1}+\cdots+x_{k}\right) t} d x_{1} \cdots d x_{k} & =\frac{k!}{t^{k}} \frac{1}{k!}\left(e^{t}-1\right)^{k}=\frac{k!}{t^{k}} \sum_{n=k}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!}  \tag{22}\\
& =\sum_{n=0}^{\infty} \frac{S_{2}(n+k, k)}{\binom{n+k}{n}} \frac{t^{n}}{n!}
\end{align*}
$$

On the other hand,
(23)

$$
\int_{0}^{1} \cdots \int_{0}^{1} e^{\left(x_{1}+\cdots+x_{k}\right) t} d x_{1} \cdots d x_{k}=\sum_{n=0}^{\infty}\left(\sum_{\substack{l_{1}+\cdots+l_{k}=n \\ l_{i} \geq 0}}\binom{n}{l_{1}, \ldots, l_{k}} \frac{1}{\left(l_{1}+1\right)\left(l_{2}+1\right) \cdots\left(l_{k}+1\right)}\right) \frac{t^{n}}{n!}
$$

Thus, by (22) and (23), we get

$$
\begin{align*}
S_{2}(n+k, k) & =\binom{n+k}{n} \sum_{\substack{l_{1}+\cdots+l_{k}=n \\
l_{i} \geq 0}}\binom{n}{l_{1}, \ldots, l_{k}} \frac{1}{\left(l_{1}+1\right)\left(l_{2}+1\right) \cdots\left(l_{k}+1\right)}  \tag{24}\\
& =\frac{(n+k)!}{k!} \sum_{\substack{l_{1}+\cdots+l_{k}=n \\
l_{i} \geq 0}} \frac{1}{\left(l_{1}+1\right)!\left(l_{2}+1\right)!\cdots\left(l_{k}+1\right)!}
\end{align*}
$$

where $n, k$ are non-negative integers.
From (21), we note that

$$
\begin{align*}
\sum_{n=0}^{\infty} \int_{0}^{1} \operatorname{Bel}_{n}(x) d x \frac{t^{n}}{n!} & =\int_{0}^{1} e^{x\left(e^{t}-1\right)} d x=\frac{e^{e^{t}-1}-1}{e^{t}-1}  \tag{25}\\
& =\frac{t}{e^{t}-1} \frac{1}{t}\left(e^{e^{t}-1}-1\right)=\sum_{l=0}^{\infty} B_{l} \frac{t^{l}}{l!} \frac{1}{t} \sum_{k=1}^{\infty} \operatorname{Bel}_{k} \frac{t^{k}}{k!} \\
& =\sum_{l=0}^{\infty} B_{l} \frac{t^{l}}{l!} \sum_{k=0}^{\infty} \frac{\operatorname{Bel}_{k+1}}{k+1} \frac{t^{k}}{k!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} \frac{\operatorname{Bel}_{k+1}}{k+1} B_{n-k}\right) \frac{t^{n}}{n!}
\end{align*}
$$

where $\operatorname{Bel}_{n}=\operatorname{Bel}_{n}(1),(n \geq 0)$, are called the Bell numbers.
On the other hand,

$$
\begin{align*}
\int_{0}^{1} e^{x\left(e^{t}-1\right)} d t & =\sum_{k=0}^{\infty} \int_{0}^{1} x^{k} d x \frac{1}{k!}\left(e^{t}-1\right)^{k}  \tag{26}\\
& =\sum_{k=0}^{\infty} \frac{1}{k+1} \sum_{n=k}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n} \frac{1}{k+1} S_{2}(n, k)\right) \frac{t^{n}}{n!} .
\end{align*}
$$

Thus, by (25) and (26), we get

$$
\begin{align*}
\sum_{k=0}^{n} \frac{1}{k+1} S_{2}(n, k) & =\int_{0}^{1} \operatorname{Bel}_{n}(x) d x  \tag{27}\\
& =\sum_{k=0}^{n}\binom{n}{k} \frac{\operatorname{Bel}_{k+1}}{k+1} B_{n-k}, \quad(n \geq 0)
\end{align*}
$$

Replacing $t$ by $\log (1+t)$ in (23), we get

$$
\begin{align*}
& \int_{0}^{1} \cdots \int_{0}^{1}(1+t)^{x_{1}+\cdots+x_{k}} d x_{1} \cdots d x_{k}  \tag{28}\\
& =\sum_{m=0}^{\infty}\left(\sum_{l+1+\cdots+l_{k}=m}\binom{m}{l_{1}, \ldots, l_{k}} \frac{1}{\left(l_{1}+1\right) \cdots\left(l_{k}+1\right)}\right) \frac{1}{m!}(\log (1+t))^{m} \\
& =\sum_{m=0}^{\infty}\left(\sum_{l+1+\cdots+l_{k}=m}\binom{m}{l_{1}, \ldots, l_{k}} \frac{1}{\left(l_{1}+1\right) \cdots\left(l_{k}+1\right)}\right) \sum_{n=m}^{\infty} S_{1}(n, m) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} \sum_{l_{1}+\cdots+l_{k}=m}^{l_{i} \geq 0}<\binom{m}{l_{1}, \ldots, l_{k}} \frac{S_{1}(n, m)}{\left(l_{1}+1\right) \cdots\left(l_{k}+1\right)}\right) \frac{t^{n}}{n!} .
\end{align*}
$$

On the other hand,
(29) $\int_{0}^{1} \cdots \int_{0}^{1}(1+t)^{x_{1}+\cdots+x_{n}} d x_{1} d x_{2} \cdots d x_{k}=\left(\frac{t}{\log (1+t)}\right)^{k}=\sum_{n=0}^{\infty} B_{n}^{(n-k+1)}(1) \frac{t^{n}}{n!}, \quad(\operatorname{see}[12])$,
where $B_{n}^{(\alpha)}(x)$ are the Bernoulli polynomials of order $\alpha$ given by

$$
\left(\frac{t}{e^{t}-1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x) \frac{t^{n}}{n!}, \quad(\operatorname{see}[12])
$$

Thus, by (28) and (29), we get

$$
\begin{equation*}
B_{n}^{(n-k+1)}(1)=\sum_{m=0}^{n} \sum_{l_{1}+\cdots+l_{k}=m}\binom{m}{l_{1}, \ldots, l_{k}} \frac{S_{1}(n, m)}{\left(l_{1}+1\right) \cdots\left(l_{k}+1\right)} . \tag{30}
\end{equation*}
$$

From (22), we can derive the following equation.

$$
\begin{align*}
\int_{0}^{1} \cdots \int_{0}^{1}(1+t)^{x_{1}+\cdots+x_{k}} d x_{1} \cdots d x_{k} & =\sum_{l=0}^{\infty} \frac{1}{\binom{l+k}{l}} S_{2}(l+k, k) \frac{1}{l!}(\log (1+t))^{l}  \tag{31}\\
& =\sum_{l=0}^{\infty} \frac{1}{\binom{l+k}{k}} S_{2}(l+k, k) \sum_{n=l}^{\infty} S_{1}(n, l) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} \frac{1}{\binom{l+k}{l}} S_{2}(l+k, k) S_{1}(n, l)\right) \frac{t^{n}}{n!}
\end{align*}
$$

Thus, by (29) and (31), we get

$$
\begin{equation*}
B_{n}^{(n-k+1)}(1)=\sum_{l=0}^{n} \frac{1}{\binom{l+k}{k}} S_{2}(l+k, k) S_{1}(n, l), \quad(n, k \geq 0) . \tag{32}
\end{equation*}
$$

## REFERENCES

[1] Jang, G.-W.; Kim, T. Some identities of central Fubini polynomials arising from nonlinear differential equation. Proc. Jangjeon Math. Soc. 22 (2019), no. 2, 205-213.
[2] Kim, D. S.; Jang, G.-W.; Kwon, H.k-I.; Kim, T. Two variable higher-order degenerate Fubini polynomials. Proc. Jangjeon Math. Soc. 21 (2018), no. 1, 5-22.
[3] Kim, D. S.; Kim, T. Some identities of Bell polynomials. Sci. China Math. 58 (2015), no. 10, 2095-2104.
[4] Kim, D. S.; Kim, T.; Kwon, H.-I.; Park, J.-W. Two variable higher-order Fubini polynomials. J. Korean Math. Soc. 55 (2018), no. 4, 975-986.
[5] Kim, D. S.; Kim, T.; Kwon, J.; Lee, H. A note on $\lambda$-Bernoulli numbers of the second kind. Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 2, 187-195.
[6] Kim, D. S.; Kim, T.; Ryoo, C. S. Generalized type 2 degenerate Euler numbers. Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 2, 165-169.
[7] Kim, D. S.; Kwon, J.; Dolgy, D. V.; Kim, T. On central Fubini polynomials associated with central factorial numbers of the second kind. Proc. Jangjeon Math. Soc. 21 (2018), no. 4, 589-598.
[8] Kim, T. $\lambda$-analogue of Stirling numbers of the first kind. Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 3, 423-429.
[9] Kim, T.; Kim, D. S.; Jang, G.-W. A note on degenerate Fubini polynomials. Proc. Jangjeon Math. Soc. 20 (2017), no. 4, 521-531.
[10] Kim, T.; Kim, D. S.; Jang, G.-W.; Kim, D. Two variable higher-order central Fubini polynomials. J. Inequal. Appl. 2019, Paper No. 146, 13 pp.
[11] Ma, M; Lim, D. Some identities on the fully degenerate Bell polynomials of the second kind. Adv. Stud. Contemp. Math. (Kyungshang) 30 (2020), no. 1, 145-154.
[12] Roman, S. The umbral calculus. Pure and Applied Mathematics, 111. Academic Press, Inc. [Harcourt Brace Jovanovich, Publishers], New York, 1984.
[13] Simsek, Y. Identities on the Changhee numbers and Apostol-type Daehee polynomials. Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 2, 199-212.

Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea E-mail address: tkkim@kw.ac.kr

Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea
E-mail address: dskim@sogang.ac.kr
Department of Mathematics, Kwangwoon University, Seoul 139-702, Republic of Korea E-mail address: hykim@kw.ac.kr

Department of Mathematics, Kwangwoon University, Seoul 139-702, Republic of Korea
E-mail address: luciasconstant@kw.ac.kr


[^0]:    2010 Mathematics Subject Classification. 11B68; 11B73; 11B83.
    Key words and phrases. Bernoulli numbers; higher-order Bernoulli numbers; Bell polynomials; Bell numbers; Stirling numbers of the first kind; Stirling numbers of the second kind.

